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"#3 .*7*8 -$ &1& *FB15,5,h -$#35>- ->=I
=+$U 3) �3$-3B$& 344$--,5 �J �8 #$=G1I
5$+-.0 -$ F+2?,5, =G,-5*>=,5, =G,517#*>5, 
=G,5B7#*>5, #'.3& "3) 3+3)J 3+3)J - )35�8^
3) &*$#53 �J &>B,- �J =B*=,>- &>B*-
�J +*43 7*-5,+,5$B 3� �J 3) >BF$&
C>3)B35* 3C&,#$ �J 3) &3#>& � -B3I
%,5, -$ / F*@, >5.35, -$ F*@$& "=*+$&8J
/8 ". )B3?F' @3.* .>=$48 =G,@,5, )*I
-53/,5, -$^ 3) P++>) -4$+>- -$45,*#5-
3>)$5 3� 
 %+*D,##6 )B3?F0 -$ PD3-5#,5,J
H8 &$53Y�38 =G,-5*>=,5, =G,F+2?,5,
-$^ 3� 3) 3&,4,5,3& 3+4,- 
�� / =G1I
5$+-5/2 - #'.(& /$@25, /-5*>=,5, -=G15$+,5,
-$J R$FB,- 344$),5 "*=3.)$4$),58 
� 7*I
B$D.3 -$ )*-53/>@$J R3&3 3) #*- 344$),5
�J +,55$B3B>& +>&$# 344$),5 
 -/'5+*
=3&15$. =2-$&#(47 *%3G>@$J 3##, 344$I
)>#5 � +653 "-51G28 =G,471%$@2J 4,/,F>-
3#,&>- 344$),5 �
 *FD3#6 #3F(/3@2 %&>I
?,+*-5, "F*@*/#*-5,8J 5D3 ,&=$B35*B, =+>-
-*++,4,5>),#,- 344$)$F35 � /%471%$+* /%#,I
.3+*J - )35�R$B/*B 344$--5Y 43=,5, � /,#*
/-5*>=,+* )* 7+3/0J F8 =G,-5*>=,5, . #'I
D$&> =G,.B*D,5, . )2+> #3 -$ /%25, 
=G$/%25, "3) 3+C)J - )35�8^ 3) B$& =>)+,I
43& 3� /-5*>=,5, )* ?,/*53 /$G$@#67* 
F(5, =*+,5,4.0 D,##(&J 3L C>F$B#34>+3
B3 =� 3� � G2%$#2 *F4$ #3 V$ /%,5,J
3) &3+$R,45>& 3� �J 3) F*#3 3� 

/$ -535.0 -$ >/1%35,J 3) 43>-3& 3� 

#3 -$ /%25, /$)$#2 =G$ 71@$#2J 3 )35� 7>,4
$C* 43>-3$ 345*B 344$--5 �J 3� 3) -,#I
C>+3- C>$B$++3- � =G,@25, .> -5$-.A& %3I
F(/35, -$ -5$-.0 =B*F2B35,J �8 ". *-*F' 
. /'4,8=G,-5*>=,5, =G,=*@,5, -$ =G,I
)35, -$ =G,-/')D,5,J -47/1+,5,^ 3)
4*#-,+5>& �J 3) 4*#),4,*#$- 
 =G,@&*>5,J
- =*>7(& 34$� -*4,$535$& 3� �J )8 =G,I
F+2?,5, -$ =*)*F*> =*)*F35, -$^ 3L )$*-
3� �J =B*U,&$ )$*- 344$--,5 
+*),>- �J
�� :8 "B*%&#*?>@248=G,-5>=*/35, )B>I
?,5, -$ =G,F(/35,^ 3F-*+�D>BF3 344$I
),Y � )3/ -$ &#*?2 /%BA-51J #*/>- 7*I
-5,- 344$--$B35 � =G,F0+J C>5 =*-5$3 34I
4$--$B,#5 ] -$ =G,-5'7*/3+,J - 3)^ 4>&

344$#)*

3) 73- V>-=,4,*#$- 4$/5,--,&3$ 43>-34
344$--$B,#5 �-J 4>& 3) #35>B3& 344$-I
-$B,5 B35,* )*45B,#3$ � .)0? . #3)1#2
=G,)B>?2 -$ -*>-53/#6 /%)'+1#2J ,) 344$L,5
3) C+*B,3& � 5* %/0E>@$ -+1/>� 
3-5*- .>4 
,-5>4 $* $*)$&^ 7>4 344$)>#5 /$5$B3#2�J344$),Y C>*)"-,#)�8�] =G,-5>=>@$53
*.*+#*-5 ?$��� ">.3%>@$ #3 -.>5$. @2&? -$
#'4*=*5/B%>@$8J344$),5 "Q =B3$5$B$3 @,Y8 
>Y� "/'53 V 9p)1+$ /0=B3/>@$8^ D++>) C>*I
C>$ #*F,- 344$),5 ,#4*&&*)>& C>*)
3F$-5 �J 3) �==,, �
+3>),, -$#$45>5$&
344$--,5 >Y 43$4>- $--$5 "�

34	4$+$B* )B$ )/, 5>& c3) 4$+$B8
:8 5B3# %B047+,5, >B047+,5, >-=,2E,5,
#'4*^ ,D$B �-J CB3)>& �J 4*#->+35>&
$, 3)4$+$B3/$B35 � .> .*#->+35> &>
)G2/$ )*=*&*7+J 4$5$B3 3)4$+$B3#5>B �
*-535#2 /'4, -$ >B047+>@2 V *-535#2&,
/'4&, -$ =*-=2471J H8 ,#5B3#-�=*-=,4735, 
=*-=2E,5, -, 47/1535,^ -, 3� /*+$#5 
4*#-$C>$#5>B �J 344$+$B3 -,C&,R$B_ �J
#$*-� C>3#5>& 344$+$B3B, =*--$5 � @3.
@$# F0 -, &*7+, =*-=,E,5,�

344$#)* $B$ 4$#), 46#->& c3) 3
#$>?�43#)* 5B3#-� .> 43#)$*8 :8 %3=3+*I
/35, =*)=3+*/35, B*%?$735,J / =3--�
=+3#*>5,^ D,C#>& gJ 34$B/*- -4>5*B>&J
R34$- 344$#-3$ �� =*47*)#' =+3#*>42J
�53&&3 5$B 344$#-3 $-5 g =+3&$# 5G,I
.B15 /0E+$7+J "- 34$� /%537�8 344$#-3 4*&3-

J 4*B#>3 3� � %3=1+,5, .+$-52 #3 B*I
%,47J 3� 3B3- g B*%#,5,5, B*%)'+35, *7$N
#3 *+51G247J 344$#-5,R*4, X =+3#*>42 .BF0J
*BF$& 3)-=,4,5 344$#->& p -/'5 %G2
/ =+3&$#$47J \ -=$4� 38 *-/,5,5, *%1I
G,5,^ +>#3 344$#-3 -*+,- B3),,- �J �8
B*%=3+*/35,^ -*+,- /3=*B 344$#),5 3B$I
#3- �>J "- 34$� /#,5G�8 -*+ 344$#),5 3$-5>-

 -+>#4$ "?1B$&8 =A-*F2 P=3+J H8 &$53R�
38 B*%#,5,5, B*%=1+,5,J B*%)B1?),5, 
B*%@,5G,5,J /%F>),5,^ ,C#$& � ?1B +1I
-.0J =3B,5$B 344$#),5 $Y 3B)$5 � +1-.>
/%#'4>@$ "/ @,#(478 3 @2 =+3#$ "V1&8J
344$#->- 3&*B$ %3#24$# =+3#3 +1-.*>J
344$#->- R>B*B$ /%5$.$& %>G$J 5BL 7#'I
/$& 7*G$ =+3#3J )*+*B$J ,#5>B,) �r B*%I
5B=D$#J 3F-*+�-5$ 344$#-3 =B*R35>B 
 =+3I
#*>4 "7#'/$&8J 3� 3#5&*- 3) /,B5>5$&

J 3) 4$B53&$# 344$#-$5- � )* F*@$
B*%#24$#J D# B3F,$& � . %>G,/*-5,J F1-#�
"- )35�83#5&*- )$++*J 3� F$++>& "�3B5$&8 

/%#,5,5, /1+.>J 4>B3& 3+4, 3� � -53B*-5
%=A-*F,5, -=$- $-5 344$#-3 
 #3)'@$



34	4D#V-$X

/%=+1+3 %3-/,5+3J F8 B*%#2,5,5, B*%I
&#*?,5, %/$+,D,5,J / =3--�!&*�� Vm^
�B-#3B$3#,&*- &,#>$#)* &$5> 34I
4$#)$#)3 -=$ �J 4$B53&$# 34*$#),5>B
� 71).3 /%=+3#$ -=*B -$ =G,*-5G>@$J /5-
/$#5, 344$#-3 $-5 � =B>).( /25B -$
/%&*7+�

34	4D#-$X DB$ :8 =G,D2535,J H8 &$53Y�
=G,)'+*/35, =G,)B>?*/35,^ 344$#-$*B
-+, � =35G2& . *#6 "�,3#'8�

������9� M &� "=3B5� =$BR� =3--� *) ��I
4$#-$*8 =G,)'+$#(J :8 PG$)#2 -+>73
"/ �2&' ,/ =B*/,#4,2478 V )35� "@3.* =A/�
=3B5�8^ C>5 3� �� �$B*#5 R>,5 �J @3.* ->F-5�
- C*#��,&3B47,)$- 
$BB,- 3� 
 8 H8 / =+>B�
344$#-5 )B>& =G,=*D5$#4, =G,)'I
�$#4, #3)=*D$5#2%1+*?#24, "+$7.*I
*)'#4, /0FB3#2 % =156 5G2)0 *FD3#-5/3 
.5$G2 )*=+N*/3+, =B*G2)+6 G3)0 +$C,$8�

344$=5,* D#,- R� c344,=,*i =G,@$52^
3� RB>&$#E,

344$=5* )B$ )/2 )5>& c/$BF�RB$C>$#5�
*)34$5=,*8 "*='5 3 *='58 =G,@2&35,J &$53R�
7>&* 344$=53#5$ *=>- 
> 3#3 =A)3 )2+*
=*)=*B*/3+3�

344$=5>- 3 >& "/,� =3B5� =$BR� =3--� *)
344,=5*8 "3+4,8/+2)#' +3-.3/' =G,@35( /2I
53#( &,+( /%14#(^ *F+2F$# > .*7* 
&,+1D$.� �3F-5344$=5>& /�34*5=,*c�

�����VX 
�! 3T��$��X�

344$--,* D#,- R� c344$L)*i �8 =G,I
�5*>=$#2 . #'.*&>#� #'D$&> =G2-5>=^
->5V 344$--,*#,F>- 4*#-$C>$F35>B >5���
� =G2-5>=$& . -*F' "3>),$#4$&,8J ��8
B*%&#*?$#2 =G2BA-5$.^ =$4>#,3$
3� �J .*#.B� 3� =3>4*B>& 3##*B>& �J
344$--5*#$& 3$),F>- 3),>#U,5 
� =G2I
-53/F> >D,#,+J F*#,- B$F>- 3� � =G,)3I
/$. . F+37*F05>J �=,B>- R>,5 3� B$C#*
�34$)*#53$ � =G,/'-$.J \ -=$4�=G2=+3I
5$. ".5$B( @$E5' #3) =*/,##*> )1/.> F0+ *)/1)'#
#� /0&1F1#8^ 3� )$4>&3$ � =G2=+35$. . )$I
-15.>�

344$-->- >- &� c344$)*i :8 =G,F+,I
�*/1#2 V$ . D$&> =G2-5>= =G247*) 
=G2@$%)^ 3� 3) >BF$&J &$53R�344$-->P-
B$R>C,Y /,B,+$- � -50.A& V &>?, -$ /0I
7(F1J "3$-5>>&8 3� $5 B$4$-->- � =G2+,/
3 *)+,/J /$#5*B>& 3� 
 #1/3+J )3 344$-I
->& +34B,&,- #*-5B,- � -+0E #3E$ +.1#2J
H8 &$5*#�"* &2-5'8 =G2-5>=^ *&#$& 34I
4$-->& +>-5B3B$ 
�

:� 344,)* $B$ 4,), \ c3L 3 43)*8
:8 )*=3)35, -=3)35, . D$&>#� .3&^

344,#C*

&,--3 3 �$B&3#,- 5$+3 CB3/5>- 344,)$I
F3#5 
-J "* *-*F'8C>,3 )$ ,&=B*/,-* 34I
4,)$B3#5 � =G,./3=,+, =G,5B7+,J C>* CB3I
/,*B 344,)$B$5 � 3F0 52& B1%#'@, "#$#3I
)1+$8 >)$G,+J \ -=$4� =B*-$F#' . #*71&
=3)#*>5, =3)#*>5, #3 .*+$#3 \ P='#I
+,/' =B*-,5,^ C$#,F>- =B,#4,=,- �
>�J
3) =$)$- *&#,>& 
J H8 &$53R�38 -&0I
-+A )*=3)35, =G,=3)35, #3 &0-+^ 3)
=*=>+, 3>B$- � )*#'-5, -$J &35*B,- &>+I
5,5>),#,- -=$4,$- 344,),5 7*-5,F>- ��,BY�J
4+3&*BJ 3) #*- R3&3 $,>- 344,),5 �
)*471%2 )*#1E2 -$J F8 -515, -$ >)15,
-$ =G,7*),5, -$J #3-535,� 
3-5*X>)1I
+*-5,#$=G2%#,/6 �̂5 C>,) 3)/$B-, 344,),--$5J
344,),5 =$B,4>+>& J 43+3&,53-J �*B-� �3.6
* >)1+*-5, =G2@$&#6^ =*)3G,5, V$J -$4>#)3-
B$- 344,),--$ $,>- *=$B3 � %4$+3 #$>BD�
C>3$ /,/* -$ 344,)$B>#5 �J ,) C>*)
344,),5 � 4*? -$ /-.>5.> -53+*� V )35�
*-*F0^�5 C>,) CB3/,>- $, 3 �3$-3B$ 34I
4,),--$5 �-J -, C>,) &275 7>&3#,5>-
344,),--$5 � .)0F0 &#$ F0+* #'4* +,)I
-.67* =*5.3+* %3-5,7+* "$>R$&,-5,4.0* 3&B5,8J
-5 C>,) 344,)35 �*&3#,- 
- "$>Y�* =*I
B1?4$8J -5 C>,L) 5=-, 344,)35 � -5,7+	+, F0
@$@ 5B$-5 "$>R� * *)-*>%$#28J * =G2%#,/6 >)1+*-5,^
->==+,435,* )$4B$53 $-5 C>*) 3#5$ ,)
5$&=>- 344,),5 #>)+, "-� !/+� D3-5* #$*3�
344,),Y >5��� -51/1 -$ =G,71%2-$ ?$���J
48 )*=3)#*>5, /0=3)#*>5, -.$#I
D,5, -$^ -5 -$4>- 344,)$B,5 �J =$5>- �$I
C>3#,- 344,),5 �-�

H� 344,)* $B$ 4,), 4,->& c3) 3
43$)*8 :8 #3G,%#*>5, #3-$.#*>5, #3I
5,5,^ 3BF*B$- 
-J *B#>& R$BB* 
J F1-#�
3� )3=$- 
 -5B1/,5, -#,-5,J H8 &$53Y�*-+3I
F,5,^ 4*=,3$ 344,-3$ ��,BYJ 344,-3$ B$+,I
C>,3$ �r -$-+3F$#6 =*B3?$#6 %F05.0 "/*@I
-.38J B*F*B$ 5>/$#5>5,- 344,-* � =* VSI
-+3F$#2 @1)B3 &+3)67* &>?-5/3 J *=$- 34I
45-3$ � %5$#D$#( &3@$5$.J B$- 3445-3$
�� E=35#6 #$F+376 F2)#6 =*&'B0�

344,#C* $B$ 4,#U, 4,#45>& c3) 3
45#C*i "%3-53B3+( ,#R� =B3$-� =3--� 344,#C5$B8
:8 =G,=1-35, *=1-35,^ +35$B, 3)4,#CU$I
B3Y $#-$& 
 . F*.> =G,=@3+ -, &$DJ &$)�
*=1-35, -$^ R,)* 344,#C,5>B $#-$ 
J
R$BB* �J H8 &$53Y�*%FB*@,5, *=35G,5,
=3B,F>- 344,#C,5>B 3B&3,- 
J &,+$- 34I
4,#45>- �r /*@,# *%FB*@$#(J =>F$- R34,I
F>- 344,#C,5>B 
J >+5B,U 344,#453 R+3I
C$++* 
J -$ 344,#C$B$5 5>/$#$ �r 3F0 -$
*=35G,+ @,#*47$& "@� =*)=*B*> -51G,8 3F0



34	$,X

V, =G,=*@,+ @,#*473� 
3-5'@, B$R$U� 3 &$)� =G,I
=B3/*/35, -$ -5B*@,5, -$ 470I
-535, �$ . #'D$&> Ĉ>5# 344,#C$B,-h �
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